@@ ol @lepSlatuflm G]g)rr@g'p&rrmeouﬁlsb;_(\g)ehg‘mrrg, @ndwurs 31
omié 2002 euegwnenr  efugmser  Gemeumonm. o B ID
Couan_Liu(heug) Geaneu glenmullen Qeewaysamar swimfliy gienpuier g
udlipseilss GouenTHib.

wpgenanio LSlThsaflliL QFwe| idlsms.

swrfliiy gienm Caeneu glenm
P1 P2 P3 S1 S2
. 8,850 . 7,165 6. 6,285 em. 4,515 ¢r. 6,010

23.

24.

Gaeneu gienp S, giewm Geavaneu 3:3:4 erarm eldlssdler Lflyeyb Ceemeu
gleom S, e Geaeneu 3:1:1 eranp eldlzssHe P1, P2 wpmid Ps semmés
udlibgeflésse .

In process A: 100 units of Raw materials were introduced at a
cost of Rs. 1,000. The other expenditure incurred by the process
was Rs,602. Of the units introduced 10% are normally lost in the
course of manufacture and they possess a scrap value of Rs.3
each. The output of process A was only 75 units. Prepare process
A Account and abnormal loss account.

ugflenew Audler 100 @@ epelQuirmearsar op. 1,000 oL sasdd
Plwasn@ssiulLg. Qbs LgflaadsE wHp CFweysd m. 602
Qewiul’ L g. @Qbs Uy flaauier RWPSHILOSSILLL e @Gsate
engmyen UL D 10% ghu@d. Coaib Sibs sfley Qurhdsmear ¢p. 3
eigid eflhasun ugflao A Wear Qeauelllih 75 wEsT <ELWD.
Ligflene A FERTEMBEILD STSTTET Bt SEr&amaib Suimflésea]D.

List out the difference between Cost Accounting and Financial
Accounting.

SLGHNmens SETEE LGS Blfluduied SATEELIQIEGLD
Qen_Guwirer Geumurhsemar L iq w1e) Hs.
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Time : Three hours

10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define — Cost Control
‘SL_&&& QFavey sL_HLUILITH — euenwum).
What do you mean by Direct Expenses?
Cririg Geeeyser eramLig) LiHM B idleug) wimg?
What is Material Control?
epeLIGLITHET SLHLILTE eTeTmme 6Tebmen?
What do you mean by Stores Ledger?
g8l muy CuCH® eremug LuHH B sidleug wrs?
Define — Idle Time

eiamrig Fsliu’ L GBiyb — euenrwimy.

Bring out the advantages of Straight Piece Rate System.

Cpir @ g6l g sden petienwamer QeuallECamamrie.
What is Service Department?

Coeneuglenn cTTDTe) 6TebTen ?

Define — Normal Process Loss

FTSHyent LilgbHlened HL L LD — euenyimy.

What is Abnormal Gain?

S| EFTETENT STUILD CTETDTE) GTEITE?

Write note on “Service Costing”.

‘Ceemeu SiLsaD’ LnB Ay GO eT(pgis.

What.do you mean by administration overheads?
Hlireurs GonQaaa ser uphl § siMeug wirg ?

What is Machine Hour Rate?

QuBSly WG NS0 eTennTed eTemen?

Maximum : 75 marks

m&

(£~S) ?quﬂ.)(]v Cos} QQCCO

B (om

n\



13.

14.

SECTION B — (5 x 5 = 25 marks) QauefliBser imasgin ‘s 2 @ge Qeual  Csmiord

: wpempudled eleneui LiLRdngl. 221> Cadl srsdlmLienu CargamemulHib
Gurgl 10 Lemset Lippré@Genn sam@idligsasiul( Dems LHwulul Lg.
CuGe eoerer ufleigsmarseanar  sradmiy CuGriyd ULfey

Answer any FIVE questions:

List out the advantages of Cost Accounting. :
_ Cedweyd. |
9L ssellene sanrsalweden HemenLoseneT L ig U6 (Hs. '
) _ 21. Calculate the earnings of workers A and B under straight piece-
Prepare Cost Sheet and find out the Cost of Production. rate system and Taylor’s differential piece-rate system from the
Particulars - Rs. Particulars Rs. following particulars. ’

Direct materials 50,000 Office stationery 3,200 Normal rate per hour : Rs. 1.80
Direct wages 25,000 Telephone charges 2,200 Standard time per unit : 20 seconds
Factory lighting 5,000 Postage and telegram 1,500 Differential to be applied: 80% of piece rate below standard
Office lighting 2,500 Salesmen salary 4,500 , : 120% of piece rate at or above standard
Storekeeper wages 3,000 Traveling expenses 3,700 Worker A produée's 1,300 units per day and worker B produces
Salary (office) 42,000 Advertising 6,800 1,500 units per day.
Repairs-factory plant 15,000 Warehouse charges 7,400 Hleraipid eluybismar darean@ GLiiefer siwg olldls SL s Ly

Ceuenaowirar A whmd Bufer smellenw samss (s

Repairs-office premises 14,000 Direct expenses 30,000

.Q S b= e 1.80 "
L& Qsaveygrer swrflsg 2 pLGSH Dswmal sarsd(s. et OIS N s (s v
' R AVGES S@wdHsaulL Coybd = ep. 20 eflarmg.ser

efluigriger €. eSlLgTBISeT . Qur@pgid udGaig ALLb )
7 _ 80 % 21e0@ elldlg gnell — cuanrwieieys@ Sip (Below standard)
Cririg. epeo1CumBeTSeT 50,000 oigieues eripg@Qummer 3,200
' : ) ) 120 % i@ 985 smell — euanmwereiled Big atanTwanaldE G
Crorig 5060 25,000 QsmenewCGuél & Lewd 2,200 (At or above standard) | :
Qsmfiparee ofetée 5,000 sume LHYILD FhHS 1,500 Geumeowimer A geuGeur prepn 1300 SeEsEsd, Caumeowrdr B
gauGeumm prEnd 1,500 Se@asdr 2 s QeligieTari.
ST 66, 2,500 efpueerument earflwio 4,500 QR © 5 o
= . . ' _ 7o 22. In a light engineering factory, the following particulars have
&MUl Guaman gl 3,000 - Gumé@eursg deeeyser 3,700 - been collected for the three months period ended on 31¢t March,
i , . _ - 2002, You are required-to re-apportion the service departments
2arfluiih (SI@IGIOSLD) 42,000 eflembuiyd 6,800 expenses to production departments.
Lpguriiy — Qgsminarane 15,000 uvewrLs smiy slLerd 7,400 . Expenses as per primary Distribution Summary
- ST © q ) S , Production Department Service Department
- W& 6 14, FOEFEIT ; : .
LIPSIUTTIL — SIS GUETTEHLD [517lg. & . s . g1 s
15. Calculate the re-ordering level from the following information : . Rs. 8,850 Rs. 7,165 Rs.6,285 Rs. 4,515 Rs. 6,010
Maximum Consumption = 300 units per day Apportion the expenses of service department Sz in proportion of
Minimum Consumption = = 200 units per day 3:3:4 and those of service department S, in the ratio of 3:1:1 to
‘ i departments P1, P2 and P3 respectively.
Re-order period = 8 to 10 days
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* SECTION C — (3 x 10 = 30 marks) Yeeu(pid Haeusallel (BB LM enenT eTaneu Sarsdl(Hs.

Answer any THREE questions. NGB & B&iTe] = 300 swgsar (Sems)
20. ‘The following is an extract of the record of receipts and issues of GODHBS LILE HI&HTe) = 200 e @ser (Hea)
sulphur in a chemical factory during Nov, 2001. . o :
] LOMID4,ENET SITED <} 616 - = 8 wpse 10 prser
Nov 1 Opening Balance 500 tomes @ Rs 200 .
3 Issue: 70 tonnes 16. A worker completes a job in a certain number of hours. The

standard time allowed for the job is 10 hours, and the hourly
rate of wages is Rs.1. The worker earns at the 50% rate a bonus
of Rs. 2 under Halsey plan. Ascertain his total wages under the
Rowan premium.

4 Issue: 100 tonnes
8 Issue: 80 tonnes
13 Received from supplier 200 tonnes @ Rs 190

14 Returned from department 15 tonnes e® Caumaowrdr ¢n uamiowu @EHOGO'L woaflCprsde gz
wpyliunt. @bs uaflssrs aiwdssiuLg 10 varfl Cprd WwHMIW
@@ warll&E e m.1 2u@b. Qs Coumawner, aprdd L e Sip
m. 2 easssQsranswuns 50% GCeugwd Sigliumiufe miigerr.
Grmeuan pamano St Liug @euflen Qorss saellenws samrés Hs.

16 Issue: 180 tonnes

20 Received from Supplier 240 tonnes @ Rs 190
24 Issue: 300 tonnes ,

25 Received from supplier 320 tonnes @ Rs 190

AT TR ey 17. Kumaresh Ltd. has three production departments. A. B and C
and Two Service Departments D and ‘E’. The following figures

27 Returned from department 35 tonnes are extracted from the records of the Company.

28 Received from supplier 100 tonnes @ Rs 190 Rs.
Issues are to be priced on the principal of ‘First In First Out’. Rent ' 5,000
The Stock Verifier of the factory had found shortage of 10 tonnes Indirect Wages _ 1,500
on the 22" and left a note accordingly. Draw up priced Stores Depreciation qf machinery 10,000
Ledger Card for the material, showing the above transactions. general Lighting 600

. ; Ll o . . _ N— - ower 1,500 -
WQeneumid efuprser e Qsllsad Qsmiiherameuiern #oui Geiafluif Sundries ) 10,000

wHMID QupgoseT BeubLiT 2001 cuenFuIreng Dy @ELD. :
Y The following further details are available :

aibuf 1 @i 1y 500 Lenger @ em. 200
. o0 Goo Ll Y Particulara Total Production Service

3 Qeuaflui® 70 Lemser Departments Departments
8 Qouaflui® 80 Lemser ’ Eloor Area 10,000 2:000 2,500 3,000 2,000 500
13 sieflviuaflimbHg Qupng 200 Learser @ . 190 (sq.feet) :

' 14 gioopuismpg Hmaun 15 Lense Light Points 60 10 15 20 10 5
16 Qeuafiuli® 180 Lenser Direct Wages (Rs.) 10,000 3,000 2,000 3,000 1,500 500
20 sieftiuafLBmhg Qubng 240 Leansdr @ e. 190 Hours Power 150 60 30 50 10 _
24 Qauaflu§(® 300 Lenaeir (KWH)

25 wefliineufliLimbs Quppg 320 Lenger @ 5. 190
26 Qeuaflui®115 _eserr

27 gienpulefimnBg SlmLiuib 35 Lemaer

28 wefiiueufliLBlBHg QuDmg 100 Learser @ e5. 190

6 60509/BYAGA

Value of Machine 2,50,000 66,000 80,000 1,00,000

5,000 5,000

Apportion the cost to various departments on the most equitable
basis by preparing a primary departmental Distribution
summary
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@wCray Hlmiod eperm swrfliy geopserrar A,B wpmbd C  ereenn
geopomwwd D wopgd E eam Csmeu giewpud OQamemig).
eeu(neuer Qbs Hlmiwsden apsalladmbgl erhSEILL L g Sp@EL.

M.
QUTL_6N& . 5,000
LOEDAPS FacdlSHET . 1,500
Qupdlrsden Bsrar Gsuwiorend 10,000
Qurg eueT&EGEaT : 600
27 1,500
LipLie Qewelsdr | 10,000

HevL_ggeter Cogibd efeurhiser ECyp QaréssriuHarerear.

eflLiyrBIgeT Qurgsnd 2 pusH giewpasar  Caameu lenmaEET

A B, C D E
e LILIL| (&.911q ) 10,000 2,000 2,500 3,000 2,000 500
eflemd Ljemar] ] 60 10 15 20 10 5
Cprig smedl (em.) 10,000 3,000 2,000 3,000 1,560 500
&Sy Hper (KWH) 150 6(3 30 50 10 -

Quibdy i (em.) 2,50,000 60,000 80,000 1,00,000 5,000 5,000

18.

18.

SdTHG  euMSLITET  CFMe|FmeTLd @peppren g LliuenL ulleéd
Qurmssoren dflssdHed udibsaiss @ogamnm glenmeumlwimes
udlipgeaflsse Siflsams swmfsse.

‘What are the steps to be taken for the calculatlon of Machine
Hour Rate?

Qupdy wafl s sasdl  T(HSIHSECSTETEHLD pem.@mg)a;m

wmeneu ?

Mr. Sakthi owns a fleet of taxies and the following information is
available from the records maintained by him:

Number of taxies 10
Cost of each taxi - Rs. 54,600
Salary of Manager Rs. 700 p.m
Salary of Accountant Rs.500 p.m
Salary of Cleaner Rs. 200 p.m
Salary of Mechanics Rs. 400 p.m
4 60509/BYAGA

Garage Rent ‘ Rs. 600 p.m
Insurance Premium 5% p.a

Annual Tax . Rs. 900 per taxi
Driver’s Salary Rs. 350 p.m per taxi
Annual repairs Rs. 1000 per taxi

Total life of a taxi is about 2,00,000 kms. A taxi runs, in all, in a
month and 30% of this distance has to be run without any
passenger. Petrol consumption is one litre for every 10 kms @
Rs. 4.41 per litre. Oil and other sundries are Rs. 10.50 per 100
kms. Calculate the cost of running a taxi per km. ;

. s58 aenuei amems stiseamer (taxis) Hiudsg eupsr.
Sjeuflib o érer gHsefefiphbg GetalhLd SEUDSET THESHILILL .

QUTLGNG STIT GTetTemt|&ens ep. 10

geudair srfler oiL&ebd  p. 54,600

Guemarit cardlwib 5. 700 rgLd
SENHSHT 2arSluiLd eB. 500 rsb
&SGLD Qedieuir m;ﬂu_ub: a@p. 200 Lorfg,Lb
L(PGIUMTTUGUT 2ardlwiid , 5. 400 g

& fmSgIb @)L eur._ens e. 600 wrgLd

TS H.gpenariotd 5% <yemiq DS
au@LTBHr eufl . 900 geuleum(m sTT&EELD
@ OB 2ardluild e . 350 WiTED al@eur(h SMi&EWD

aUmHLTHET LEpSILITTLIL e . 1,000 worgib geuGaur asrrr'ré;@j‘)'

@@ &1 2pujar urggwns 2,00,000 &.18. Gedaib, eubeumn smHLD
Quorsswrs wrssHd 0% GQsnmas) b LWIMASERD O
Qadreid. g AL Lit Qui Crrgnd@ 10 &5 LT Qedgibd igen allene
m. 441 @b u@ad wHmb wHp Qsweysdr 100 H.BSL@ES
5. 10.50 Qeeeun@ib. geuQeurm armn @ &5 @@mg,gpg,rrsm
S5 Qsvenal sasE (Hs.
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